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Fill in the blanks: C

I got hit a vehicle.

a)from b)since c)by d)to by

Fill up the blank: B

Is there any significant difference in quality these two items?

a)among ‘ b)between ‘ ¢) into ‘ d)from between

Which of the following statement is incorrect as per rule of grammar? B

A. ‘Shall’ with the subject in second and third person introduces the

idea of compulsion

B. ‘Will’ with the subject in first person express bleak sense of

determination

C. ‘Should’ with the second and third person means ‘ought to’

D. More than one of the above

a) A only | b) B only | c)A&Bboth | d)A & C only B only
D

Assertion (A): In winters, people prefer wearing white clothes.
Reason (B): White clothes are great reflectors of heat.

a) Both A and R | b) BothAandR | ¢)A is true but | d) A is false but | A is false but
true and R is the | true but R isnot | R is false R is true R is true
correct the correct
explanation of A | explanation of
A

Match the following synonyms: B

A. Fostering 1. Postpone

B. Propel ii. Nurturing

C. Massive i11. Drive

D.Defer iv. Huge
a)A-I, B-ii, C-iii, | b) A-ii, B-iii, | ¢) A-ii, B-i, C- | d) A-iv B-iii, C- | A-ii, B-iii,
D-iv C-iv, D-1i iii, D-iv ii, D-i C-iv, D-i
Which one is true about Fundamental Rights? d
a) Fundamental | b)Fundamental | c)Fundamental | d)Fundamental | Fundamental
Rights can be Rights are for a | Rights can Rights can Rights can
suspended by specific section | never be only be only be
the Chief of the society | suspended suspended suspended
Minister of the during a during a
state national national

emergency emergency

Find the right matching pairs:

A. Father of Electricity 1 Aristotle

B. Father of Biology 11 James Maxwell a

C. Father of Electromagnetism iii Michael Faraday

D. Father of Genetics iv GJ Mendel
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, C- | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii i, D-iv iv, D-ii ii, D-iv
Which of the following statement is/are True:
A. In Arunachal Pradesh, Brahmaputra river is known as Siang river. a

B. Brahmaputra river is also known as Iril river.
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C. Dibang river flows in Jharkhand.
D. In India, Brahmaputra river flows through Arunachal Pradesh,
Assam, Meghalaya, Nagaland, West Bengal and Sikkim.

a)Aand D b) Band C c)Cand D d) Dand B Aand D
9 | There are two statements marked as Assertion (A) and Justification (B).
Read them and answer as per the codes provided below:
A: Satin cloth refers to a weave and is characterized by a soft and b
shiny finish.
B: Satin cloth can withstand wear and tear.
a)Both A and B | b)Both A and B | ¢)A is true but | d)A is false but | Both A and B
are true and B is | are true but Bis | B is false. B is true. are true but B
the correct | not the correct is not the
explanation of | explanation of correct
A. A. explanation
of A.
10 | Loktak Lake, the largest freshwater lake in India is situated in d
a) Ladakh b) Arunachal | c) Meghalaya | d) Manipur Manipur
Pradesh
11 | A is taller than B, C is taller than A, D is taller than C, and E is the | Answer
tallest of all. Who would occupy the mid-position if they were made to | option
sit in the order of height? (a,b,c or d)
a)A b)B c)D d)C Answer
d)C
12 | Complete the series 1,4, 8,13, 7,26 Answer
option
(a,b,c or d)
a) 15 b) 19 c) 20 d) 21 Answer
b) 19
13 | Umbrey moved a distance of 150 m towards north. He then turned to | Answer
the left and walked for about 50 m, turned left again and walked another | option
160 m. Finally, he turned to the right at an angle of 45°? (a,b,cord)
In which direction was he moving finally?
a) South-west b) South-east c) North-west | d) North-east Answer
b) South-
west
14 | Which of the following statements are TRUE: Answer
A. India has world’s largest known oil reserves option
B. Indian continent is 3rd largest in the world (a,b,c ord)
C. India is a part of a subcontinent
D. Indian economy is 7th largest in the world
a)A b) B c)C d)D Answer ¢) C
15 | Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come | Answer
next? option
(a,b,c or d)
a) 7 b) 10 c) 12 d) 14 Answer
b) 10
16 | Which of the following is the second largest artificial lake in Asia? d
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a)Chilika Lake | b)  Chandubi | c)Kolleru Lake | d)Dhebar Lake Answer
in Odisha Lake in Assam | in Andhra | in Rajasthan d)Dhebar
Pradesh Lake in
Rajasthan
17 | Which of the following statements is/are true? a
A: Arunachal Pradesh, means “Land of the Rising Sun,”
B: Arunachal Pradesh was formerly known as the North East Frontier
Agency (from the British colonial era).
C: Most of Arunachal Pradesh’s terrain consists of deep valleys flanked
by highland plateaus and ridges that rise to the peaks of the Great
Himalayas.
D: The major rivers of the state are the Brahmaputra and its tributaries
are viz., the Dibang (Sikang), Lohit, Subansiri, Kameng, and Tirap.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
18 | Which country is called the ‘Coffee Bowl of the World’? c
a)UK b)India c¢)Brazil d)Mexico Answer
¢)Brazil
19 | Match the following: a
A: Input Device 1: Mouse
B: Output Device ii: Monitor
C: Web Browser iii: Opera
D: Software iv:MS-Office
a) A-i; B-ii, C-|b) A-ii; B-iii, | ¢) A-1; B-iii, C- | d) None of the Answer
1ii; D-1v C-i; D-1v 11; D-1v above are | a) A-i; B-ii,
correct C-iii; D-iv
20 | Which is the largest uranium producing country in the world? a
a) Kazakhstan b) Uzbekistan | c) USA d) India Answer
a)
Kazakhstan
21 | Which of the following brain areas have been shown to be important D
for memory?
a) cerebellum b) amygdala c)hippocampus | d) all of the|all of the
above above
22 | Which part of working memory controls how attention is directed? A
a) thc? central b) the mother c)the ‘ d) the director the central
executive mnemonic .
board executive
processor
23 | Which of the following statement is correct about memory processes?
A. Procedural memory is typically implicit.
B. Auditory sensory memory is called iconic memory. B
C. Encoding is the process by which we put information into our
memory.
D. Memory of our high school graduation would be a good example of
semantic memory.
a)A&Bonly |b)A&Conly [c)A&Donly |d)B & D only
24 | Assertion(A): Information processing theory explain memory in three
stages. B

Reason (B): Long term memory stores information for long duration.
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a) Both A and R | b)BothAandR | ¢)A is true but | d) A is false but | Both A and
true and R is the | true but R isnot | R is false R is true R true but R
correct the correct is not the
explanation of A | explanation of correct
A explanation
of A
25 | Type Questions here for matching pairs:
A. Echoic memory 1. memory to recall an image
B. Eidetic memory ii. temporarily stores a limited D
information
C. Working memory iii. temporarily hold information in
active state
D. Short term memory iv. memory to recall sounds
a)A-i, B-ii, C-iii, | b)A-iv,  B-iii, | ¢)A-iii, B-i, C- | d)A-iv, B-i, C- | A-iv, B-i, C-
D-iv C-ii, D-1 ii, D-iv ii, D-iii ii, D-iii
26 | Heuristics are: C
a) the same as | b) a type of|c) information | d) none of the | information
mnemonics hormone processing above processing
strategies strategies
27 | Which of the following statement is true about learning?
A. In classical conditioning, acquisition precedes extinction.
B. In classical conditioning, a neutral stimulus becomes the C
unconditioned stimulus.
C. Negative reinforcement is the same thing as positive punishment.
D. Observational learning is also called modelling.
a)A&Bonly |[b)A&Conly [c)A&Donly |d)B & Conly A & D only
28 | If we reinforce the desired response every time it occurs we are using: A
a) continuous | b) incremental | ¢) intermittent | d) contingent | continuous
reinforcement reinforcement | reinforcement | reinforcement | reinforcemen
t
29 | Which scale of measurement has absolute value of zero? B
a) Ordinal \ b)Ratio \ c¢)Interval \ d)Nominal Ratio
30 | In a normal distribution of NPC curve most scores are located:
A. at the high end of the distribution
B. at the low end of the distribution D
C. in the centre of the distribution
D. at the extremes of the distribution
a) A & B only b) C & D only c)D only d) Conly
C only
31 | Assertion (A): Correlational research allows us to assess the causal
impact of one variable on another. D
Reason (B): Lack of external validity limits the extent to which the
findings of a study can be generalized.
a) Both A and R | b)Both AandR | ¢)A is true but | d) A is false but
true and R is the | true but R isnot | R is false R is true .

Ais false but
correct the correct R is true
explanation of A | explanation of

A
32 | Match graphical presentation with statistical technique C




A. Scatter plot

1. Percentage

B. Pie chart

1i. correlation

C. Frequency polygon

iii. Frequency in each interval

D. Histogram

iv. Midpoints in frequency

distribution
a)A-i, B-ii, C-iii, | b)A-iv, B-iii, | ¢)A-ii, B-i, C- | d) A-i, B-iv, C- | A-ii, B-i, C-
D-iv C-ii, D-1 iv, D-iii ii, D-iii iv, D-iii
33 | The most frequently occurring score in a series is called........................ A
a)Mode | b)Median | c)Range | d)Mean Mode
34 | Which of the following constitute continuous variables?
A. Number of times a score of 180 is achieved in a darts match
B. Gender B
C. Temperature
D. All of the above
a) A & B only \ b)C only \ ¢)C & D only \ d)B & C only C only
35 | Which method can be applied to calculate the interaction effect of B
independent variables?
a)t test b)ANOVA c¢) Mean d)Pearsgn ANOVA
correlation
36 | Match the method with their final result value
A.ANOVA I.U test C
B. Pearson correlation ii F value
C. Mann-Whitney iii. R value
D. Multiple correlation iv. r value
a)A-i, B-ii, C-iii, | b)A-iv,  B-iii, | ¢)A-ii, B-iv, C- | d) A-i, B-iv, C- | A-ii, B-iv, C-
D-iv C-ii, D-1 I, D-iii i1, D-iii I, D-iii
37 | Fritz Perls is associated with c
a) The b)Hypnotherap | c¢)The Gestalt | d) Cognitive The Gestalt
Cognitive y therapy Behavioural therapy
therapy Therapy
38 | Find the right matching pairs:
A. Enduring features of an individual’s | i Experiences
behaviour
B. Knowledge or skill gained by doing ii Emotions a
C. Conscious mental reactions 111 Traits
D. the way that you think, feel or behavetoward | iv Attitude
a particular object, person, thing, or event.
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, C- | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii i, D-iv iv, D-ii ii, D-iv
39 | Which of the following statement is/are True:
A. Viktor Frankl developed Logotherapy.
B. Skinner developed Cognitive therapy. a
C. Viktor Frankl developed Free Association technique.
D. William James developed CBT.
a) A only ‘ b) Band C ‘ c)Cand D ‘ d) D only A only
40 | There are two statements marked as Assertion (A) and Justification (B).
Read them and answer as per the codes provided below: c




A: In Schizophrenia psychotic symptoms such as hallucinations,
delusions, disorganised speech and grossly disorganized behaviours are
known as Positive symptoms.

B: Schizophrenia is a physical disorder.

a)Both A and B | b)Both A and B | ¢)A is true but | d)A is false but

are true and B is | are true but B is | B is false. B is true. .

the correct | not the correct A '1s true but
. . B is false.

explanation of | explanation of

A. A.

41 | Mania involves a
a)Feelings  of | b) Sadness c)Worthlessnes | d) Suicidal | Feelings of
euphoria. S thoughts euphoria.

42 | There are two statements marked as Assertion (A) and Justification (B).

Read them and answer as per the codes provided below:

b
A: Inattentionis a symptom of ADHD.
B: ADHD is a neurodevelopmental disorder diagnosed in children.
a)Both A and B | b)BothAandB | ¢) A is true but | d) A is false but | Both A and B
are true and B is | are true but B is | B is false. B is true. are true but B
the correct | not the correct is not the
explanation of | explanation of correct
A. A. explanation

of A.

43 | Perceptions which occur without any external stimulation d

a) [llusion b) Mirage c)Delusion d)Hallucinatio | Hallucinatio
n n

44 | A chronic mood disturbance that can cause depressive symptoms, but d
does not disrupt normal functioning
a) Cyclothymic | b)Schizophreni | ¢) Personality | d) Dysthymic | Dysthymic
Disorder a disorder Disorder Disorder

45 | According to feature detection theory, are responsible for d
detecting boundaries of objects.

a) Complex cells | b)Trichromatic | c)Hypercomple | d) Simple cells | Simple cells
cells x cells

46 | Find the right matching pairs:

A.Gibson 1 Constructivist Theory of Perception

B.Gregory i1 Sensory Integration Theory a

C. Jean Ayres iii Direct Theory

D. Young and Helmholtz iv  Trichromatic Theory of Color

Vision
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, C- | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii i, D-iv iv, D-ii ii, D-iv
47 | Which of the following statement is/are True?

A. Perceptual consistency is the stability of the environment as we
perceive it.
B. Perceptual consistency is the same size of the image formed on the a

retina.
C. No matter how far away from the observer a door is, they still
perceive it as having a constant size.
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D. Perceptual consistency is the frequent change of the environment as

we move.
a) A and C are |[b)BandDare |c) C and B are | d) D and A are | A and C are
true true true true true
48 | There are two statements marked as Assertion (A) and Justification (B).
Read them and answer as per the codes provided below:
A: Stimuli from the right visual field are sent to the left occipital lobe. ¢
B: Occipital lobe is not related to human vision.
a)Both A and B | b)Both A and B | ¢)A is true but | d)A is false but
are true and B is | are true but Bis | B is false. B is true. .
the correct | not the correct A 1S true but
. . B is false.
explanation of | explanation of
A. A.
49 | Weber’s Law is about d
a) The smallest | b) The | ¢) The | d) The | The
change in the | minimum threshold relationship relationship
stimulus that a | amount of | identification between between
person can | stimulus by subject as a | stimulus stimulus
detect necessary to be | form of | intensity  and | intensity and
able to detect decision difference difference
making threshold threshold
50 | The semicircular canals of human ear are involved in Cc
a)Smell \ b) Hearing \ c) Balance \ d) Pain Balance
51 | Find the matching pairs:
A. In motion, objects closer move faster | i Stroboscopic movement
B.Film reels and cartoons i1 Linear Perspective a
C. Railroad tracks ii1 Motion parallax
D. Distant objects appear hazier iv Aerial Perspective
a) A-iii, B-i, C- | b) A-iv, B-i, C- | ¢) A-iii, B-ii, C- | d) A-iii, B-i, C- | A-iii, B-i, C-
ii, D-iv i1, D-iii i, D-iv iv, D-ii ii, D-iv
52 | Which of the following statement is/are True:
A. Monocular cues are effective when the objects are viewed with only
one eye.
B. Objects that are further away from the observer appear larger than a
those that are closer.
C. When an object partially covers another, the covered object is
perceived to be closer.
D. Retinal Disparity is a monocular cue.
a) A only b) Band D c)Cand D d) D only A only
53 | In 1904, Ivan Pavlov won the Nobel Prize for his work on............ b
a)Psychology b)Digestive c)Physics d)None Answer
System b)Digestive
System
54 | Given below are one Assertion (A) and a Reason (R). Consider them a

and select the correct code in the context of Schools of Psychology.
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(A) Functionalism was strongly influenced by Darwin’s theory of

natural selection

(R) Functionalists argue that since consciousness is a uniquely human
characteristic, it must serve important functions for us otherwise, it
would never have evolved.

a) Both A and R | b) A is true but | ¢) A is false but Answer
are true and R is | R is false R is true d)Both A and R a) Both A
are true but R is
the correct the NOT and R are
explanation of A true and R is
correct
. the correct
explanation of .
A explanation
of A
55 | René Descartes, a French philosopher (1596-1650), suggested that b
mind and body are distinct entities and that they interact through the
a)Heart b)Pineal Gland | c)Kidney d)None Answer
b)Pineal
Gland
56 | Wilhelm Wundt founded the first formal laboratory for research in a
psychology at
a)University of | b) Stanford | ¢c)Cambridge d)None Answer
Leipzig University University a)University
of Leipzig
57 | Which of the following statements is/are true for various schools of a
Psychology?
A: Structuralism: An early view of psychology suggesting that the field
should focus on identifying the basic structures of the human mind.
B: Functionalism: An early view of psychology suggesting that it
should focus on the functions of consciousness.
C: Behaviorism: The view that only observable, overt activities can be
measured scientifically should be studied by psychology.
D: Psychodynamic: Focuses on the role of hidden, often unconscious,
internal processes (€.g., unconscious motives).
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
58 | e assists individuals in dealing with many personal a
problems that do not involve psychological disorders.
a)Counseling b)Educational | ¢)Experimental | d)None Answer
Psychology Psychology Psychology a)Counseling
Psychology
59 | Match the scientific method-related functions: a

free from bias
as humanly possible.

A: Accuracy | i: A commitment to gathering and evaluating
information about the world in as careful,
precise, and error-free a manner as possible.

B: ii: A commitment to obtaining and

Objectivity | evaluating such information in a manner as

Skepticism

C: iii: A commitment to accepting findings as
accurate only after they have been verified




over and over again, preferably by many
different scientists.

D: Open- iv: commitment to changing one’s views—
mindedness | even views that are strongly held—in the face
of evidence that these views are inaccurate.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
60 | Testable predictions derived from theories are known as ............. b
a)Problem b)Hypotheses | c)Observation | d)Inference Answer
b)Hypothese
S
61 | The child as a "Tabula Rasa" was first introduced by b
a) Freud b) Locke c) William | d) None Answer
James b) Locke
62 | What joins the left and right hemispheres? b
a) Cerebellum b) Corpus | ¢) Basal | d) Medulla Answer
callosum ganglia oblongata b) Corpus
callosum
63 | Which of the following statements is/are true? a
A: Neurons are cells specialized for communicating information.
B: Neurons are known as the basic building blocks of the nervous
system.
C: Glial cells are those cells that surround, support, and protect neurons.
D: Dendrites are the parts of neurons that conduct action potentials
toward the cell body.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
64 | The neurotransmitter that influences normal memory function is a
a) Acetylcholine | b) Dopamine ¢) Serotonin d) Answer
Norepinephrin a)
e Acetylcholin
e
65 | Match the function of each neurotransmitter with their functions: a
A: Serotonin 1: Plays arole in the regulation of mood,
eating, sleep, and arousal
B: Dopamine ii: Involved in movement, attention,
and learning
C: Norepinephrine | iii: Primarily involved in control or
alertness and wakefulness.
D: GABA (gamma-amino |iv: Abnormal levels have been
butyric acid) implicated in sleep and eating
disorders.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
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66 | Given below are two statements, one is labeled as Assertion (A), and b
the other is labeled as Reason (R). Consider them and select the correct
code in the context of communication within neurons:
A: Graded potential is a basic type of signal within neurons that results
from external physical stimulation of the dendrite or cell body.
B: In contrast to the all-or-nothing nature of action potentials, graded
potentials vary in proportion to the size of the stimulus that produced
them.
a) (A) is correct, | b) Both (A) and | ¢) (A) is wrong, | d) Both (A) and Answer
but (R) is wrong. | (R) are correct | but (R) is | (R)are wrong. | b) Both (A)
correct. and (R) are
correct
67 | Which of the following statements is/are true? a
A: Agonist is a chemical substance that mimics the action of a
neurotransmitter at a receptor site.
B: Antagonist is a chemical substance that inhibits the effect normally
produced by a neurotransmitter at a receptor site.
C: Many painkillers (analgesics) occupy receptor sites normally
stimulated by endorphins.
D: Drugs affect our feelings or behavior by altering the process of
synaptic transmission.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct | D are correct above are | a)Allare
correct correct
68 | Damage to ............. produces three major symptoms: inability to b
recognize spoken words (i.e., to tell one word from another), inability
to understand the meaning of these words, and inability to convert
thoughts into words.
a) Broca'sarea |b) Wernicke's | ¢) Cerebellum | d) Basal Answer
area ganglia b)
Wernicke's
area
69 | Who among the following defines intelligence as the aggregate or
global capacity of the individual to act purposefully, think rationally | ¢
and deal effectively with the environment?
a) Spearman b) Binet c) Weschler d) Gallon Answer
c)Weschler
70 | Match the following for A, B, C and D a
A. Mental Age (MA) i1 John McCarthy
B. Intelligence Quotient (1Q) i1 William Stern
C. Artificial Intelligence (Al) 111 Alfred binet
D. Emotional Quotient (EQ) iv Peter Salvoy and John Mayer
a) A-iii, B-ii, C- | b) A-ii, B-i, C- | ¢) A-i, B-ii, C- | d) A-iii, B-ii, | Answer
i, D-iv iii, D-iv iv, D-iii C-vi, D-i a)A-iii, B-ii,
C-1, D-iv
71 | Sheldon’s theory that people with different body types have different b
personalities has been:
a) Supported by | b) c) Shown to be | d) Shown to be | Answer
research Discontinued accurate for accurate for | b)Discontinu
ed
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lean people but | women but not

not for obese men
72 | Which of the following statements is/are TRUE regarding the statement
“Older and experienced individuals can often outperform younger ones
in cognitive tasks” a
A Crystallized intelligence stays level or even increases with age
B. Fluid intelligence increases with age
C. Crystallized intelligence decreases with age
D. None of the above
a) A only b) B only c)Band C d) D only Answer a) A
only
73 | Who argued that “attitude follows behavior”? a
a) Leon | b) Elton Mayo | c) F. Herberg d) Erik | Answer  a)
Festinger Erickson Leon
Festinger
74 | The term “identity crisis” was given by the famous scientist: b
a) Freud b) Erick | c) Piaget d) None of the | Answer
Erickson above b)Erik
Erickson
75 | Which of the following tests of personality is used to assess personality | ¢
structure and detect emotional tendencies?
a) Minnesota b)  Thematic | c) Rorschach’s | d) Word | Answer
Multiphasic Apperception | Inkblot Test Association c)Rorschach’
Personality Test Test s Inkblot Test
Inventory
76 | Read the statement below for assertion and justification
A (Assertion): Psychoanalytic Theory considers role of unconscious
conflicts as a great influence in shaping the personality. b
B (Justification): Personality is greatly shaped by the experiences of
childhood according to Psychoanalytical Theory
a)A and B are | b)A and B are | c)A and B are | d)A is the | Answer b)
both true and B | both true but B | both false and | correct A and B are
is the correct|is not the|B justification for | both true but
justification for | correct B B is not the
A justification for correct
A justification
for A
77 | The first American Psychology Laboratory was founded at John a
Hopkins University by ?
a) G. Stanley | b) W. Wundt c) W. James d) None Answer
Hall a) G. Stanley
Hall
78 | Who demonstrated that our perceptions of physical stimuli—for c
instance, the loudness of a sound or brightness of a light are related in
lawful, predictable ways to the physical energies of these stimuli?
a) Johannes | b)  Hermann | ¢) Gustav | d) None Answer
Miiller von Fechner ¢) Gustav
Helmholtz Fechner
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79 | Match the following: b
A: Behavioral 1: Focuses on cognitive processes such
as memory, thought, reason
B: Cognitive ii: Focuses on overt behavior
C: Developmental |iii: Focuses on subjective and
phenomenological world of the hole
person
D: Humanistic iv: Focuses on changes in behavior and
cognitive processes over the life span.
a) A-i; B-ii, C- | b) A-ii; B-i, C- | ¢) A-i; B-iii, C- | d) None of the Answer
1ii; D-1v 1v; D-iii 11; D-iv above are | b) A-ii; B-i,
correct C-iv; D-iii
80 | Cross-cultural psychology compares the behavior of people b
from
a) same cultures | b) different | ¢c) both a & b | d) none Answer
cultures are correct b) different
cultures
81 | Which of the following statements is/are true? a
A: In 1904, Pavlov studies conditioning.
B: In 1933, Freud publishes influential New Introductory Lectures on
Psychoanalysis.
C: In 1951, Carl Rogers helps start humanistic movement.
D: In 1953, B. F. Skinner publishes Science and Human Behavior:
radical behaviorism.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct | D are correct above are | a)Allare
correct correct
82 | Assertion (A): Indian thought, conceives of mind as a non-localizable a
but integrates cognitive system, thereby synthesizing cognitive input
with affective, ego-loaded material under intellectual regulation.
Justification (B): Such an approach it is contended could accommodate
investigation of paranormal cognition and hold promise for personality
growth.
Choose the correct option?
a) BothA& Bis | b)BothA& B |c) A is correct | None of the Answer
correct & B is | are correct but | but B is | above a) BothA &
the correct | B is not the incorrect B is correct
justification. correct & B is the
justification of correct
A justification.
83 | The Indian Psychological Association was formed in 1925 and the c
Indian Journal of Psychology started in the year
a) 1927 b) 1947 c) 1926 d) 1987 Answer
¢) 1926
84 | Articulating the classical Indian perspective, which of the following a

statements are true?

A: Psychology is the study of the person (Jiva).

B: The Jiva is transpersonal, bound by transcognitive states.
C: The person is consciousness embodied.
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D: Consciousness as such is irreducibly distinct from the material
objects, including the brain and mind.

a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
85 | Psychologists  define  motivation as  internal  processes a
that
a) Activate, | b) De-activate, | ¢c) Both are | d) None of the Answer
guide &maintain | guide and fail | correct above are | a) Activate,
behaviour to maintain correct guide
behaviour &maintain
behaviour
86 | What is the name of the theory of motivation suggesting that behavior c
is “pushed”
from within by drives stemming from basic biological needs?
a) Metabolic | b) Urge Theory | c) Drive | d) None of the Answer
Theory Theory above ¢) Drive
Theory
87 | Which of the following statements is/are true about emotions? a
A: Emotion refers to complex reactions.
B: It refers to the physiological responses such as changes in blood
pressure and heart rate.
C: Emotions often refers to the subjective feelings we describe as
happiness, anger, sorrow, disgust, and so on.
D: Emotions also include expressive reactions that reflect these internal
states, such as changes in facial expression or posture.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
88 | “The suggestion that the level of arousal beyond which performance a
begins to decline is a function of task difficulty” is part of which
theory?
a) Yerkes- | b) Expectancy | ¢) Incentive | d) None Answer
Dodson Law Theory Theory a) Yerkes-
Dodson Law
89 | Match the columns: a
A: Aggressive | i: The desire to harm or injure others in some
motivation manner.
B: Aggression ii: Behavior directed toward the goal of harming
another living being that wishes to avoid such
treatment.
C: Frustration iii: The blocking of ongoing, goal-directed
behavior.
D: Workplace | iv:Violent outbursts in which employees attack
Violence and even kill other persons with whom they
work.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
90 | The view that motivation can be strongly influenced by goals is known b

as
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a) Triad Theory | b) Goal-Setting | c) Objective- | d) None Answer
Theory Setting Theory b) Goal-
Setting
Theory
91 | Assertion (A): One theory suggests that an emotional reaction to a a
stimulus is followed automatically by an opposite reaction
Justification (B): Repeated exposure to a stimulus causes the initial
reaction to weaken and the opponent process, or opposite reaction, to
strengthen.
Choose the correct option.
a) Both A & B |b) Both A & B | c) A is correct | None of the Answer
are correct and B | are correct but | but B is | above a) BothA &
is the correct | B is not the | incorrect B are correct
justification of A | correct and B is the
justification of correct
A justification
of A
92 | Angerand resulting aggressive motivation can often be reduced c
by
a) Apologies b) Other | ¢c) Both a & b | d) None Answer
information are correct ¢) Botha &
that helps b are correct
explain
why others
have treated us
in a
provocative
manner
93 | Changes determined largely by our genes is known as Cc
a) Acculturation | b) c) Maturation | d) None of the Answer
Proprioception above are c)
correct Maturation
94 | Which disorder includes a smaller than normal head size, deformities a
of the face, irritability, hyperactivity,retarded motor and mental
development, heart defects, limb and joint abnormalities, feeding
problems, and short attention spans?
a) Fetal Alcohol | b) Fetal Drug | ¢) Fetal | d) None Answer
Syndrome (FAS) | Syndrome Immune a) Fetal
(FDS) Syndrome Alcohol
(FIS) Syndrome
(FAS)
95 | Which of the following statements is/are true about emotions? a)

A: Emotion refers to complex reactions.

B: It refers to the physiological responses such as changes in blood
pressure and heart rate.

C: Emotions often refers to the subjective feelings we describe as
happiness, anger, sorrow, disgust, and so on.

D: Emotions also include expressive reactions that reflect these internal
states, such as changes in facial expression or posture.
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a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
96 | Inherited responses to stimulation in certain areas of the body, is often a
called
a) Reflexes b) Exptectancy | c¢) Incentive d) None Answer
a) Reflexes
97 | Match the columns with newborn reflex actions: a
A: Blinking | i: Baby closes eyes in response to light.
B: Rooting | ii: When cheek is touched or stroked, baby turns
toward touch; moves lips and tongue to suck.
C: Moro iii: Baby throws out arms and fans finger, extends
neck, and cries in response to loud noise or sudden
drop of head.
D: Babinski | iv:When baby’s foot is stroked from heel to toe, toes
fan out.
a) All are correct | b) Only A, B & | ¢) Only B, C & | d) None of the Answer
C are correct D are correct above are | a)Allare
correct correct
98 | Differences between persons of different ages stemming from the fact b
that they have experienced contrasting social or cultural conditions is
often called
a) Triad Effects | b) Cohort | ¢) Short Effects | d) None Answer
Effects b) Cohort
Effects
99 | Assertion (A): In a truly random sample, each and every element of the b
population has an equal chance of being included in the sample.
Justification (B): If we have a true random sample, not only can we
estimate parameters of the population, but we can also have a very good
idea of the accuracy of our estimates.
Choose the correct option.
a) Both A & B |b) Both A & B |c) A is correct | None of the Answer
are correct and B | are correct but | but B is | above b) Both A &
is the correct | B is not the | incorrect B are correct
justification of A | correct but B is not
justification of the correct
A justification
of A
10 | Square root of the variance is known as a
0
a) Standard | b) Mean | ¢) Range d) None Answer
Deviation Absolute a) Standard
Deviation Deviation
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